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ACCOUNTANCY (THEORY)
|9 : 3 G0¢ | [ guris : 80
Time : 3 Hours | | Max. Marks : 80
frder: (i) g ueH-UF dF 9 ¥ s 2 -, @ 3R T
Directions : This question paper is divided into three parts : 'A’, 'B' and 'C'.
(i) 9 ‘@ g9 Wil & foe sifEsd 2
Part 'A' is compulsory for all candidates.
(i) 9@ 3R T H F Pls vb U &A B &
Any one part from Parts 'B' and 'C' is to be attempted.
(iv) W= ag FeiRd 36 36 T 3ifod 2
Marks alloted to the questions are mentioned against them.
(v) TR ¥ B TS Ufed A W IR A
Read each question carefully and answer to the point.
(vi) W ST 1 0T 18 Sgfamed wed €1 39 Ul $ Hd \WUs & TR § UK fawed
& e ¥ U2 faeen s STRyRae # fafae|
Question No. 1 & 18 are multiple choice questions. Four options are
given in answer of each part of these questions. Write correct option in
your answer book.
(vii) 39 WeE-UF § T R PiE facbed Fel & qunfy siiua gt # sidaRe faded yam

fpar T &1 U WAl H $ad U fddbed o & R alfoTe|

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the

given choices in such guestions.
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R -'& (ETITE)
Part-'A’' (Accountancy)

U RG] BF | 31,§ ARER &, fora! Usit sHer: 7 20,000, % 30,000 &1 BH I
¥ & 3 H T % 10,000 &| TIEERY Hold & 314G | ‘31" DY @TH BT foberm 3791
YIS BRITP 1
(i) ¥ 4,000 (i) ¥ 6,000

(iii) ¥ 5,000 (iv) ¥ 10,000

A and B are partners in a partnership firm, their capital are ¥ 20,000,
¥ 30,000 respectively. Firm's profit is ¥ 10,000 in the end of year. In
absence of partnership deed, how much share of profit will receive by A?

(i) % 4,000 (i) Z 6,000

(i) % 5,000 (iv) ¥ 10,000

T AEER & 949 & 96 = § F {5 3rura o o &t St 82 1
(i) omH-wI U (ii) T AT

(i) QR 3T (w)sqﬁ@raﬁéﬂﬁ’r

Which of the following ratio is calculated at the time of admission of new
partner? :
(i) Gain Ratio (ii) Sacrifice Ratio

(i) Old Ratio (iv) None of these

ATRIER B 9eg 8 @ a9 # 1 § & -1 @i T8l a4 S 82 1
(i) RAPS @Il (i) TTRERT & Yot @

(iii) IR @ (iv) GHcdid @I

In the case of death of partner, Which account was not made from the
following?

(i) Cash Account (i) Partners' Capital Account

(iii) Realisation Account (iv) Revaluation Account

372l @1 31ferea R Frfae o yeR o1 ary &2 1
(i) UoINTa wifta (i) HRT @Y

(iii) 3R @TH (iv) 399 & BIS &l

Which type of profit is premium on issue of shares?

(i) Capital gain (ii) Normal profit

(iii) Abnormal profit (iv) None of these

UPH BT T 10 YfeT 3737 &6 100 3721 & U eTesy & 37%r T 3 ufey 3791 ) 31faw
HiT AR 7 YT ST R e PR fo1e| S gRT 37 fobe e 37eit & gafm =

FHferpaH ge fvd &= I & 31 Foel! 27 1
(i) % 10 wfe 37er (i) % 3 Wi 3fer
(iiiy % 5 fer 39T (iv) % 7 Wi 3fer

[2]



IECHE

A company forfeited shares of a shareholder of 100 shares of ¥ 10 per
share for non payment of final call money of ¥ 3 per share. What is the
maximum rate of discount can be given by company on reissue of forfeited
shares?

(i) T 10 per share (ii) ¥ 3 per share

(iii) % 5 per share (iv) ¥ 7 per share

U B! H FHOTITRI &Id &: 1
(i) P B @™ (i) P B UED

(ii)) BEEN F ATER (iv) 379 § BIS el
Debentureholder in a company are:

(i) Owner of the company (ii) Customer of the company

(iii)  Creditors of the company (iv) None of these

T T -1 & AT a1 WUl H, 3 HHE! P B (A) AT HRUT (R) & B4
ﬁ%?ﬁmﬁmm%l frferRaa faapedt (i), (i), (i) T (iv) § & FADR D1 el
FR |

Direction : In the next two parts of Question No.-1, there are two statements

(B)

(37)

432 (ITW)

labelled as Assertion (A) and Reason (R). From the following options (i),
(ii), (iii) and (iv), select their correct answer.
(i) ATATR A HE & 9T R, A DY T&I RS Hal &

Both A and R are correct and R is correct explanation of A.
(i) ATT R T Y & R=J R, A B TEl ARAT &l Bl &

Both A and R are correct but R is not the correct explanation of A.
(i) A TEr & W R T &

A is correct but R is incorrect.
(iv) AT R AT Terd &

Both A and R are incorrect.
IRB (A) : TRER BF & FaE T GEIER] §RT a7 9 B 3R 3 [ v
& gR1 fban 311 | g
BRI (R) : TRER] b HeI I8 W< UREIRS Tordl 1 ¢ 1
Assertion (A) : The business of a partnership concern may be carried on
by all the partners or any of them acting for all.
Reason (R) : This relation between partners is mutual agency.
FRBUT (A) : TRER) BF F T ARIER B 72T fedr 511 e & 516wl TR
39 fore weHd &
BRUT (R) : T GRER ¥ WY R IRER 64 & fd td gkl o1
qTcaia fdT S B 1
Assertion (A) : The new partner may be admitted when the existing
partners agree for it.
Reason (R) : Assets and Liabilities of partnership firm are revaluated on
admission of new partner.

[3] [ P.T.O.



e 9 =1 2 9201 3 H fad T BUHT & HRIRE e’ 370aT 3’ 3ifdhd o 3 31l

FTRyRaa & fafae|

Note : In Question No. 2 & 3, mark 'True' or ‘False’' against the given statements

2.

10.

and write them in your answer book.
U 3TAIRT T&UT B dlet WTRiaR & BH & Tod g JifaaRa omdl # & o &= &
PR &l 21 1
A retiring partner is not entitled to have a share in the reserves and undistributed
profits.

ST GRT 37el @F F#orgat # uRafdd &l fesar s wear 1 1
Shares can not be converted into debentures by company.
3§ BRI GIRT 319+ 379 @I 59 fosam ST @ &t I T Hactidr &2 1

What is called when company purchased its own shares?

379 PTs SRTERY &1 e R | &1 1T BT YA AT B UTelT & Y 3 T el o7l &2 1
What is it called when a shareholder fails to pay the call money on the due date?
f=r vd 315101 5:3 & H T8 fIHTST Xl gF 99eR &1 3 79 9eR Mid<
®I 3/10 T & TR & H:I%Tv@afrﬁsnﬁaaﬂﬁél foraw Fag 2/10 fe=a = 1/10 3431?1
9T BN T AT [T ST @ T Hifoe|

Vinay and Ajay are partners sharing profit-loss in the ratio of 5:3. They admlt a
new partner Govind in the firm for 3/10 share of profit, which he acquires 2/10
from Vinay and 1/10 from Ajay. Calculate new profit sharing ratio.

31fira 3R farie ve iRt ®H A 9ReR & mmm%mﬁﬁw%ﬁaaaa‘r
D! JEAT TATS:

(i) Tasie 39 Yot & 3rgurd ¥ oY fawTs @1 arar dRa 2|

(i) 3Ha 2 10,000 fT HIE I HT STaT HRAT & FilTeh a€ U Wihd TRER 2
Amit and Vinod are partners in a partnership firm. State the valadity of following
claims in absence of partnership deed.

(i) Vinod claims for distribution of profit in their capital Ratio.

(i) Amit claims for salary of ¥ 10,000 per month because he is a active partner.

HHAT 3797 9 QAlUBR 39 ¥ ®Is &l 3R foae| 2
Write any two differences between equity shares and preference shares.
FfaRaa @ sref fefae: 1+1=2
(@) fara o

(@) IRTT FOTH

Write the meaning of the following:

(a) Secured debentures

(b) Convertible debentures

ide 3R UIIeT T AR B H 2:1 3 IguTel 8§ en-g1i+ reimer a3y ge e &1
éuﬁmaﬁuﬁwésanﬂﬁ1/3mas%nmaﬁﬂméﬁé|éwaﬁm#
% 27,000 @ TRUCT &d &| HIGHT BT I B a1t arH § S 89 TR 9 39 HHT B 310
aY faTsT= 3T # 969 BRI | B BT af 2020 BT &1 2 72,000 AT| FRERT F T
T fauTsi qe &g o 9 &1 s arar s=rsd| 4

Kavita and Payal are partners in a partnership firm sharing profit-loss in the ratio

432 (ITW) [4]




of 2:1. They admitted Bhawana in partnership for 1/3 share in future profits.
They give guarantee in profit to Bhawna % 27,000. If there is deficiency in the
profit received by Bhawana, they will bear this deficiency in their profit sharing
ratio. Firm's profit for year 2020 was ¥ 72,000. Prepare Profit & loss Appropriation
Account to show the distribution of profit among partners.

11. P Q3R R U TR GH § 3:2:1 P SFIUT H oH-g1i+1 [AUTS Bl g Ao & | 3
@ & ST 5 a1E 3 E31 b 3ER0T 0 &1aT 3R P & 31,000 e ol 70T H el e
T TRERT I 3MERVT R T HHST: X 2,000; % 3,000 T ¥ 2,000 ATl AHESH &Y
TIID ST HARE BISTE AT Draiiedes fewott i weedr | gense| 4
P, Q and R are partners in a partnership firm sharing profit-loss in the ratio of
3:2:1. After the final accounts have been prepared, it was found that interest
on drawings and P's salary ¥ 1,000 was not taken into calculation. The interest
on drawings of partners were ¥ 2,000; ¥ 3,000 and % 2,000 respectively. Make
necessary journal entry for adjustment and show working notes clearly.

3@/ OR
AR B @1 fge fea-fiee aRRfert 3 8 Taar &2 avi Hifswel
Under what circumstances a partnership firm can be dissolved? Describe it.

12. U T Yot SR A 2 10 FRY 3% AT 10,000 FeAT 3feT FRifH fhd| 5 SRl TR 2 3
T W, 2 5 3ATde U= IUT 2 2 AT W SRR & oY | 4T 3721 55 . fefe 7T qen
IR e e & | v Siereny 3t U 200 391 91 Are B 1R BT Y
& B BT B B GEIDT F SAYTD S WA real HiTe| 4

A joint stock company issued 10,000 equity shares of ¥ 10 per share. The
amount on these shares was payable as ¥ 3 on application, ¥ 5 on Allotment
and % 2 on call. All the shares were subscribed and all the amount were duly
received. A shareholder who had 200 shares could not pay the call money.
Pass the necessay journal entries in the books of company.

13. (@) wR s Y 7 15,00,000 BT TUE 1S foifics & @Xiar| HF ¥ 53 S Hidtbe

% = § % 2,50,000 TTba FAT AT AT P T T 100 AT 6% FHOTTH X 25 MHIH W

fonffia fsar| 2

(@) X s 3 7 95,000 & 7 Y fAfics & wE TR Y 50 S s & w9 4
Z 100 TTeY 6% OUITA T 5 Bg W it fosd| 2
IR oF-aA1 @) St ufaftear difotel

(a) Star limited purchased a plant of ¥ 15,00,000 from Sky limited. Company
paid Z 2,50,000 in cash and issued 6% debentures of 100 each at premium
Z 25 each for purchase consideration.

(b) X Limited purchased a machinery of ¥ 95,000 from Y Limited. Y Limited
issued 6% debentures of ¥ 100 each at discount of ¥ 5 for purchase
consideration. '

Give journal entries for above transactions.
: ; 3REi/OR
S B T IR faeansii & quiH il 4

Explain any four features of company.

432 (IIW) [5] [P.T.O.




14, U WEER! BF § X 3R Y 2:3 & 3 # emy-gnf fowifee axa g wEerR o 5

feTraR 2022 BT B BT 3 frgr =1 usR o
MIE2 [ RIS Tufaar e RITST
3 4

TR 5.000 b 6,000
37T I 2,000 gfaar 5,000
AN 9T 4,000 SER 10,000
'S IRCIGE 4 g HaH 70,000
X 40,000 BER 20,000
Y 60,000 1,00,000

1,11,000 1,11,000

X 3R Y 7 54 & faere 1 fHofa e | et gt & smeR w o &) e s ST
(i) YfHd HaT § 3 80,000; TR I T 18,000; SFaRT 2 8,000 3R &feran ¥ 2 7,000

ageT g2

(i) TERI & YT BT aified X 7 feran| s @t o1 gof e fesar
(ili) FHGT & FT 1,000 FE
HIHERT BH BT aHelt WIdT T FHERT & Yol Wi IR Hifre |

X and Y were partners in a partnership firm sharing profit loss in the ratio of 2:3

Balance sheet of firm on 31 december 2022 as follows®

Liabilities Amount Assets Amount
< 3
Creditors 5,000 Cash 6,000
Outstanding Expenses 2,000 Inventories 5,000
Debtors 10,000
General Reserve 4,000 Land & Buildings 70,000
Capital A/c's: Furniture 20,000
X 40,000
Y 60,000 1,00,000
1,11,000 1,11,000

X and Y decided to dissolve the firm. On the bas_is of following information close
the books of the firm:

(i) ¥ 80,000 from land and building; ¥ 18,000 from furniture; T 8,000 from
debtors and ¥ 7,000 from inventories were realised.

(i) X took liability to pay creditors. Outstanding expenses were paid in full.

(i) Realisation expenses were Z 1,000.
Prepare Realisation Account, Partners capital Account of the firm.

432 (ITW)
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15. ABC forfires Sr 3 40,000 379 & fore 3mdes st a1, s FweR < &

e R 7 2 yfer 391
37Tde W) Z 5 ufa 379
YT § 3if~ad T IR z 3 yfq 39T

44,000 32Tt % fore 3M¥e W gEl 4,000 37 & ndEH ® R X faar war qe
3T B IR U AR & T | T SR 5% 9T 1,000 37T &, AT DY A B
YT B § IGeT XET| 3P 37 SR e IR fere| P A S fobdr - sreit
@I 2 8 yfer 37er W g it foba |

B B GEAD! W NALIS FA Fdreal diofe| 6
ABC Limited company invited application on 40,000 shares. Which are payable
as follows:

On application T 2 per share

On allotment ¥ 5 per share
On first and final call % 3 per share
Application received for 44,000 shares. Application of 4,000 share were rejected
and application money was refunded. A shareholder who has. 1,000 shares,
failed to pay call money. His shares were forfeited by company. Company reissued
forfeited shares on ¥ 8 per share.
Pass necessary journal entries in the books of company.

3Ydi/OR
FOTTET 3 37T T FHS & FoH, 3790 A fou veR i 8?2 THEsd|
What do you understand by debentures? How are debentures different from
shares? Explain.

16. 37131 3 U BH & AR & quT 3:2 P FuT & A g g1+ 1 farHTe SRl &1 31 fawR
2022 BT 3T 3 fugr e yer a:
e eRITT (%) | et SRITT (%)
g3t @ 7 U HERI 50,000
3 30,000 Tgfaan 20,000
g 25,000 55,000 | &ER 20,000
TR 5 Vi 25,000 | GEm-wieTY
&g fauz 20,000 | ol & fore e 5,000( 15,000
HHF ST 5,000 | JFHE 20,000
1,05,000 1,05,000
432 (ITW) [7] [P.T.O.




1 SR 2023 B 38 & DI o9 | 1/4 4T & foIw 79 WEER & wu # Frafofaa ot

R %A H Y99 < &1 ol foan

(i) %% 20,000 it & w9 # G241 X 10,000 T & &=y & w9 & cmerm|

(i) A g WRAMRY &1 < 55,000 TAT G BT T 18,000 TR Hewiias febam | |

(iif) ifever Foit & fere yraerm @ 2 3,750 fesar e |
ORI YA & SR R YHeATH GTaTl 7T TRIER! 3 Yo @ TR BITSTe6 |

A and B were partners in a firm and sharing profit and loss in the ratio of 3:2.
Their Balance sheet as on 31 December 2022 was as follows:

Liabilities Amount () | Assets Amount (%)
Capital A/c's Plant & Machinery 50,000
A 30,000 Inventory 20,000
B 25,000 55,000 | Debtors 20,000
Creditors 25,000 | Less: Provision
Bills Payables 20,000 | for doubtful debts 5,000 15,000
General Reserve 5,000 | Cash 20,000
1,05,000 1,05,000

On 1% January 2023 they decided to admit C as a new partner for 1/4t share in

the profits of the firm on the following terms:

(i) C brought ¥ 20,000 as his capital and ¥ 10,000 as his share of goodwill.

(i) Plant & Machinery was valued at ¥ 55,000 and inventory at ¥ 18,000.

(iii) Provision for doubtful debts will be at ¥ 3,750.

Prepare Revaluation Account and Partners' Capital Account on the basis of above

information. \
3AUAT/OR

aTferd, HIE d "R U B # WIHIER & 7T ATH-g11+ &7 15 5:3:2 3 3 3§ aey

I 31 fawmaR 2022 @1 391 3N ozt = v am:

aRrE SRR (%) | wmuRmit ERINT (3)

g3l @ 4 T W 80,000

dferd 40,000 TR 20,000

Higq 35,000 | <gfean 20,000

EEel 30,000 1,05,000 | <Hs 15,000
TN a9 20,000
GRLARS 10,000

1,35,000 1,35,000

432 (ITW) [8]




31 R 2022 B R Fr=foiRad ot W 3/EdrReT U0 BT o

() 4ffr @ 9o @1 T 85,000 TR, TR BT X 18,000 W Hewiich fobar 4|

(i) OFER! BT [ e & < 2,000 B B FAE A

(iii) B P Tfer & Geaiaw- 3 32,000 fosam |

Y B IRID! W AELIH ST Tiaredi ditote|

Lalit, Mohan and Naresh were partners in a firm and sharing profit-loss in the
ratio of 5:3:2. Their Balance sheet as on 31 December 2022 was as follows:

Liabilities Amount ()| Assets Amount (%)
Capital A/c's Land and Building 80,000
Lalit 40,000 Debtors 20,000
Mohan 35,000 Inventory 20,000
Naresh 30,000 1,05,000f Cash 15,000
General Reserve 20,000
Creditors 10,000

1,35,000 1,35,000

17

Naresh took retirement on 31 december 2022 on following terms:
(i) Land and Building valued at ¥ 85,000; Inventory at ¥ 18,000.
(i) Creditors to be paid ¥ 2,000 less than the book value.
(iii) Firm's goodwill was valued at ¥ 32,000.

Pass the necessary journal entries in the books of the firm.
TR PE TS U AREN @aard ¢, ot sifia sik gorer 2:1 & s # em-ar
Sicd &Y AR & e ¥ st 3 2 1,00,000 T §5T A ¥ 80,000 Yo & e fean
| TR BE @IS AL ITHAT R TP [ERVT &1 G IISHRT TR Tl AT Y
> Bp FE vp 3R YT Wiew @ e &1 R fre sfiRaw gt Faw
STaeTear 8Nl | SERIE § 370 s T 1 T UIRER & B9 W AHER! H §a¥ &d &
TH T 90,000 YT | TE wids & et # 1/5 fee e, ot @ aifHd 9 gor
A SRIER T A BH B e BT Gedioo fwet 3t & 3ie el & 2 ¥ &
¥ 3R W o e | fed 3 auf & e & - 1ad 2 15,000; 1139 X 20,000; 1113
% 25,000 | =7 31 oy &Y Tl Faba e

432 (IIW) [9] [P.T.O.



IWRITE TEBERI P MR R FF=feilad vt & 391 Qoo

(i) o1, Sorer @ T o =AY fqHTs SuTa o ane 1
(37) 1:1:1 (§) 17:76
(¥) -2:1:5 (&) 2:1:2
(i) 31 T Fover & N 31U TAT BNTT? 1
(31) 2:1 (§) 2:1:5
() 14 (&) 13
(i) H P ST § THT P & B T0FET HifSTe| 2
(iv) THF R A8 T A1 & NiHaH o sHe didfte Sifse| 2

Star Food Plaza is a partnership business, in which Amit and Brijesh are partners
in sharing profit-loss in the ratio of 2:1. Capital invested by Amit ¥ 1,00,000 and
Brijesh ¥ 80,000, in the business. Star Food Plaza is a restaurent on national
highway. In view of increasing traffic on national highway they plan to open an
another restaurent. Which will require additional capital, So they admit their
friend Chaman as a new partner. Chéman will bring ¥ 90,000 as capital. Chaman
will take 1/5th share in future profit, which he will get from Amit and Brijesh
equally. Firm's goodwill will be valued on the basis of 2 years purchase of average
profit of the last 3 years. Last 3 years profit were : I** year ¥ 15,000; II™ year
< 20,000; III year % 25,000. Chaman brings his share of goodwill in cash.
Give answer the following questions on the basis of above information.

(i) What will be the new profit sharing ratio of Amit, Brijesh, and Chaman?

(a) "Lai:1 () _17:7:6

{c) 2:1:5 (d) - 2:1:2
(i) What will be sacrificing ratio of Amit and Brijesh?

() 2:1 (b), = 2:1:5

(c) 1:1 (d), - 1:3

(iii) Calculate Chaman's share in gbodwill of the firm.

(iv) Pass journal entries for premium of goodwill brought in by Chaman.

432 (ITW) (10 ]




i -@’ (fahia faa=on &1 faeeson)

Part-'B' (Analysis of Financial Statements)

®) feafaRad & @ 9 F & o faaxon & enfie =21 &2 1
(i) omH-gr= faaRor (i) RPs yarg fdaxor
(i) 3 FgT (iv) Ps @l

(&)

Which of the following does not include in financial statement of company?.
(i) Statement of Profit and Loss (ii)) Cash Flow Statement

(iii) Balance Sheet (iv) Cash Account

FrfaRea # 3 @ &1 Jds vaTg faavor § Aws @1 afedar 72 1
(i) 37N & T | Abs wid

(i) TR YRR BT 5

(iii) SR U Y=

(iv) a9 &= ua &mst -

Which of the following is outflow of cash in Cash Flow Statement?

(i) Cash received from issue of shares

(ii) Purchase of fixed assets

(iii) Payment received from debtors

(iv) Interest recieved from investment

e : T TET 19 9T 20 H G TE BUHT & THE "W 31T 3R’ 3ifche 3% I 31T
IRy # foRae|
Note : In Question No. 19 & 20, mark 'True' or 'False' against the given state-
ments and write them in your answer book.
19. mﬁrﬁsﬁﬁuﬁawﬁés%sﬁwmﬁwmﬁ%mﬁmnﬁﬂaﬁwm
&I T HIGT &) 2

The

objective of analysing the financial statements of a company is not the

measure the company's ability to repay its debts.
20. s YaTE fFaxor A Forst o1 Frfee foxira fsansii & swia gwitan S 2| 1

In cash flow statement, the issue of debentures is shown under the financing

activities.
21. Abe Va8 fIaRu1 91 & P al 3e3d foiae| 2
Write any two objectives of preparing cash flow statement.
22. fr=folaa Gaem & ‘seree farsam & Aes Yarg’ B T0HET Hifsfe: 4
faa=or 31-12-2022 31-12-2021
3 4
SRR 25,000 20,000
TIER 30,000 26,000
Tgfera ' 40,000 46,000
3721 gt 1,20,000 1,00,000
emH-g1i+ foaxor &1 9 40,000 30,000
432 (ITW) [11] [P.T.O.



23.

SR T THIATSHI:
@1l & 3erEd - 2 5,000
aTe v & g™ 3 12,000
Y= 999 H §IaR0l- Z 3,000
Calculate the cash flow from operating activities from the following information:

Particulars 31-12-2022 31-12-2021

3 3
Creditors 25,000 20,000
Debtors 30,000 26,000
Inventories ; 40,000 46,000
Share Captial - 1,20,000 1,00,000
Balance of Statement of Profit & Loss 40,000 30,000

Additional adjustments:
Goodwill written off-3 5,000
Depreciation of current year-¥ 12,000

Transfer in general reserve-3 3,000

BT ST 2013 B 3N 111 & AR BRIl & Reifer faazor # ffaRed #ail &

& MY A 39-9 faRae | 4
(i) <&fan (iy T T
(iii) SrdoIcid S FOT (iv) wfa

Write main heading and sub-heading of following items in Balance Sheet according
to the schedule III of Companies Act 2013.

(i) Inventories (i) General Reserve
(iii) Long-term Bank Loan (iv) Goodwill
3@ / OR
faxita faazoi @1 FefaRaa & fow g samge-
(i) THaerd (i) WRBR
(iii)  BHARY (iv) 3ferems
State the importance of financial statements to:
(i) Investors (i) Government
(iii) Employee (iv) Shareholder
432 (ITW) [12]
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24. TP B! & faxir faaRor I are gaem e &

YA o 3TTH
YT & 3 D AT

T 3797 Gt

QrddmITeid T

3R R

IIRIER GII3IT & SR W 7 araias 3Rl & 0T HifoTe:
() eI AT

() el eH 3R

(1) 9T AT GHIER 3T 3T

() ZROT-HaT 3TUTd

¢
1,50,000
1,00,000
50,000
25,000
40,000
10,000
3,00,000
4,50,000
25,000

Following are information obtained from the financial statements of a company:

Revenue from operation

Cost df revenue from operation
Credit sales

Current liabilities

Current assets

Inventories

Equity share capital

Long-term debt

Average debtors

432 (IIW) [13]

3
1,50,000
1,00,000
50,000
25,000
40,000
10,000
3,00,000
4,50,000
25,000
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Calculate the following ratios on the basis of above informations:
(a) Liquidity ratio !
(b) Gross profit ratio :
(c) Receivable or Debtors turnover ratio
(d) Debt-equity ratio
R - (STl i)
Part-'C' (Computerised Accounting)
18. () HYLRIHa @B JUNEH BT e &: 1

(i) YR B YN N faxirg faazoi @1 g

(i) DGR BRI eI@id oiH-aA1 & T 3 Reprg 7 Ruid daR o=

(i) oGP T FIa-erd 3Tl o AR

(iv) 399 & DI5 T&l

Computer Accounting System refers to-

(i) Printing of financial statements using computer

(i) Processing accounting transections through computer and produce
records and reports.

(iii) Processing accounting related data

(iv) None of these

(@) vae A e e BT el el IR Feidfd ardr 22 1
(i) refEw _ (i) WedaR
(i) =9 ST (iv) e IR
Where is the address of active cell displays?
(i) Row heading (i) Status bar
(iii) Name box (iv) Formula bar

e : 7Y H=AT 19 7T 20 H & 0 BT & TR el 31aT ‘3 3ifha B} 3 3
FRyRaa § foRae|

Note : In Question No. 19 & 20, mark 'True' or 'False' against the given state-

ments and write them in your answer book.
19. 9 H &1 BaeH T YD K0T YT i Y 70T H Brelr & 1

The function PMT is used to compute the loan repayment schedule.
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20.

22k

22.

23.

24.

1% 3Midbel Pl b T vesi= el 2l £,

Graph is not a pictorial representation of data.

II6 1 TS & U F B alcl By a1 e ferRae| 2
Write any two advanteges of using graphs or charts.
BIseiic & 39T & 31 dle dIs IR Ffedt sasd| 4

State any four errors in using spreadsheet.
BRI orad YOTIel § R&T gfaen & w9 # ‘URyas JRam' 3R ‘sier 3iifse’ o
AT HRE 4

Explain 'Password Security' and 'Data Audit' as security features in Computerised
Accounting System.
3AYdl /OR
didIe o T ©° $9d T A1H 82
What is Pivot table? What are its benefits?

BIEeNT & YN A 9+ CIEIdd $I aUi difoTe| 6

Describe Payroll Accounting using spreadsheet.

% K %k k Xk
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